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Write out the general equations for: Point Slope Form:

Slope-Intercept Form:

Standard Form:

1. Given the points: (3;7) and (-2, 8)

a. Write an equationin point -slope form

=g--1_15 _
-3 —5 2

b. Rewrite the equation in slope-intercept form .
Y- §=-3x-b
b = -2y +a&

2. Write theequation of the graph to the right:

a. Inslope-intercept form :

ey [4=3xrt]

b. Now re-arrange into standard form. (A, B, and C must be integers)

(&\;(ZXJAP)

:)L-)—

[¥X+zj§

c. Now, rewrite the equation in standard form .

Y= -3x+2

Bxry=21




3. Write 2 different possible equations of a line that contains (9, 8) and+7, -8) in point slope form:

Mm— -8_@__M;) 9-8:_—_1()(-’@)

—1-a e 94—8:1[)(7“7)

5
4. Rewite the equation of the I%é y- 5 é(x SDn standard form. (A, B, and C must be integers)

5\j—l0 =2 (x-5)

5~»o = 72%x-10

5. Write the equation of the line that passes through the points (3, 5) and4, 9) instandard form.

(A, B, and C must be integers) M — OI’ 5 _:_Lg 7(% 3 §5___7 6_1_;}7_()( —5\3

oz
- 7y-35= -4(x -3)
¥'7q/36:: —Yx +12

l“rux 1y _—:@

6. Determine if line a andine b are parallel, perpendicular, or neither.

Linea: 3x- 4y 33 Line b: y=%x -1
- —44’5 = -3X+3>
- —4
y=Zx -2 oaraid
7. Write the equation of the line that is perpendicular toy = —‘11)( 2 and passes through the point
(4, 3) inslope intercept form. m = )_)A ( L}, @
o 4 X ‘,/b —:_)-})C =
= 4 (H+bo
3=lb+b

—13=b



| | | —Lx +Z Y
8. Which of the lines below is parallel todx - 2y =7 z q 7
0T 2y= el B) 2ys D YRR
c) -2x 3 -2 -2 \\9 _z><+—l 6}&:%(%}
<@ZQ:Z§EE> - -1 _ 2
¢) y=dx £ Y=2x"3z 2 4%/*’23;+
= _ >
== y=zx7g

| s L4
a. Define your variables. NN

: Qn
X = Min
M =|AVeS

. Write an equation inSLOPE INTERCEPT FORMat represents this situation.

y:-‘?x + 50

(o}

c. Explain the meaning of the-intercept. d. Explain the meaning of the slope.
Ko |eaves | -7 7leales
A+ ominuies ; [ I,
(Staet)

e. When will therebe no leaves left on the tree?

0=-7x1+50
-0 =]

-1 - :
10) Y= 7.4 min
11) While on vacat i ck of how far your family has traveled and how long it has taken.

After 3 hrs you are 180 miles from home. After 7 hrs you are 420 hours from home.

a. Define your variables. ( 2,180 w Zi0~ (g0

X = Nnours

ey (7,420

Sj = Yyulus

b. Write an equation in POINTSLOPE form c. Change your equation to SLORPBNTERCEPT form:
that represents this situation: :ﬁ — 180 = (0OX —| SO
— |50 =(0( X—
A (x=3) \(fj = @Oxt+ OO

d. How many hours from home are you when you are 550 miles away?

550 = X+ O
©° o a.lbhouws

*x = 0.lp






